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What master data objects can you set up using time-based fields? Note: There are 2 correct answers to this question.

*  Cost centers

*  Statistical key figures

*  Activity type

*  Cost element

NEW QUESTION 23

You would like to allocate primary and secondary costs from a cost center to another cost center. Which allocation method will you

use?

*  Assessment

*  Distribution

*  Periodic reposting

*  Direct activity allocation
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NEW QUESTION 24

What can you configure in the settlement profile? Note: There are 2 correct answers to this question.

*  Define document management parameters.

*  Determine an overhead key.

*  Determine whether settlement is required.

*  Define a number range for settlement document.

NEW QUESTION 25

You are running an indirect activity allocation. What do you post to the sender and receiver?

*  You post only cost to both the sender and receiver.

*  You post quantity and cost to both the sender and receiver.

*  You post both quantity and cost to the sender, and cost only to the receiver.

*  You post both quantity and cost to the receiver, and cost only to the sender.

NEW QUESTION 26

You have implemented Product Cost by Sales Oder in conjunction with revenue-based results analysis in your organization.

For a particular sales order item, you have the following:

Plan revenue = 3000; Plan costs = 2000

Actual revenue = 1200; Actual costs = 1000

What data does the system calculate during results analysis?

*  Revenue = 1200; Cost of sales = 800; Reserve = 200

*  Revenue = 1200; Cost of sales = 1000; Reserve = 200

*  Revenue = 1200; Cost of sales = 1000; WIP = 200

*  Revenue = 1200; Cost of sales = 800; WIP = 200

NEW QUESTION 27

How can you configure the transfer price solution in SAP S/4HANA? Note: There are 2 correct answers to this question.

*  Use separate segments for each valuation.

*  Use separate currency types within the same ledger for each valuation.

*  Use separate ledgers for each valuation.

*  Use separate CO versions for each valuation.

NEW QUESTION 28

What are some of the characteristics of planning for internal orders? Note: There are 2 correct answers to this question.

*  You can plan multiple versions.

*  You can enter costs and revenues.

*  You can define tolerance limits for plan overspend.

*  Availability control can check against plan values.

NEW QUESTION 29
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You use a production order with Product Cost by Period and you entered a results analysis key and variance key. How does the

system calculate variances in Product Cost by Period?

*  Variances = Target costs &#8211; Delivery value

*  Variances = Target costs &#8211; Delivery value &#8211; WIP

*  Variances = Actual costs &#8211; Delivery value &#8211; WIP

*  Variances = Actual costs &#8211; Delivery value

NEW QUESTION 30

You want enable WIP calculation in Product Cost by Period. What do you need to configure?

*  Settlement profile

*  Valuation variant

*  Profitability Analysis (PA) transfer structure

*  Variance variant

NEW QUESTION 31

What can you manage via the account assignment category? Note: There are 2 correct answers to this question.

*  Separate sales order stock

*  Costing variant

*  Valuation of separate sales order stock

*  Product cost by sales order

NEW QUESTION 32

How do you define the relationship between an operating concern and a controlling area?

*  Many-to-many (N:M)

*  Many-to-one (N:1)

*  One-to-many (1:N)

*  One-to-one (1:1)

NEW QUESTION 33

You want to create cost centers for your company. What is the prerequisite to build an organizational structure for overhead cost

controlling?

*  Person responsible

*  Profit center

*  Standard hierarchy top node

*  Cost center categories

NEW QUESTION 34

Which field can you select for both reporting in costing based and account-based Profitability Analysis?

*  Value in Controlling Area Currency

*  Version

*  Record type

*  Cost element

NEW QUESTION 35
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Which scenarios can be covered by one single costing run? Note: There are 2 correct answers to this question.

*  Inventory cost estimate of all the materials in one plant

*  Standard cost estimate of all the materials in all plants of a controlling area

*  Current cost estimate of all the materials in all controlling area

*  Product cost collector cost estimate in one plant

NEW QUESTION 36

Which of the following objects can be selected in templates for activity-based costing? Note: There are 2 correct answers to this

question.

*  Cost center/activity type

*  Internal order

*  WBS element

*  Business process

NEW QUESTION 37

You have implemented Product Cost by Sales Oder in conjunction with cost-based POC results analysis in your organization.

For a particular sales order item, you have the following:

Plan revenue = 3000; Plan costs = 2000

Actual revenue = 1200; Actual cost=1000

What data does the system calculate during results analysis?

*  &#8220;Revenue = 1500; Cost of sales = 1000; Revenue surplus =300&#8221;

*  &#8220;Revenue = 1200; Cost of sales = 1000; Capitalized revenue (revenue in excess of billings) = 200&#8221;

*  &#8220;Revenue = 1500; Cost of sales = 1000; Capitalized revenue (revenue in excess of billings) = 300&#8221;

*  &#8220;Revenue = 1200; Cost of sales = 1000; Revenue surplus =200&#8221;
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